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In any A ABC, the following relationship holds :

m3 .\ wg  hd _27 81R® — 2560r°
w, h, m,  32° r3

Proposed by Zaza Mzhavanadze-Georgia
Solution 1 by Soumava Chakraborty-Kolkata-India, Solution 2 by Mohamed
Amine Ben Ajiba-Tanger-Morocco

Solution 1 by Soumava Chakraborty-Kolkata-India
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Solution 2 by Mohamed Amine Ben Ajiba-Tanger-Morocco

Since

h, < w, < m, (and analogs), and by using Rearrangement inequality, we have
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Also, we have
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Using these results, we obtain

m,3 +w,,3 h.2 27 81R5 —2560r°
wp h, m, 32 r3 '

Equality holds iff AABC is equilateral.



